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QUESTION 1

A project manager reports that the implementation of a new system is on track to be completed under budget and ahead
of the schedule. A stakeholder then asks the manager to add mobile device functionality. Which of the following should
the project manager do in response to the request?

A. Decline because it is not included in the project scope.

B. Assess the impact of the request and create a change request

C. Create new functional and non-functional requirements for mobile devices.

D. Revise the baseline of the project plan by adding the new requirements.

Correct Answer: B

Assess the impact of the request and create a change request. The project manager should assess the impact of the
request and create a change request in response to the stakeholder asking to add mobile device functionality to a
project that is on track to be completed under budget and ahead of schedule. A change request is a document that
formally proposes and records a modification or addition to some aspect of a project, such as scope, schedule, cost,
quality, or resources. A change request can help to communicate and justify the need and rationale for the change and

its implications on the project objectives and deliverables. A change request also helps to initiate the change control
process, which involves reviewing, approving, implementing, and monitoring the change.

QUESTION 2

Two stakeholders, who have a history of animosity toward one another, are in disagreement during a project. The
project\\'s timeline depends on the stakeholders accomplishing their tasks. Which of the following conflict resolution
methods would be best to utilize?

A. Smoothing

B. Confronting

C. Forcing

D. Compromising

Correct Answer: B

Confronting, also known as problem-solving or collaborating, is a method of conflict resolution that involves addressing
the root cause of the conflict and finding a mutually beneficial solution that satisfies both parties. Confronting is the

most

effective method when the stakes are high and the relationship is important, as it can lead to increased trust, respect,
and cooperation. Confronting requires open communication, active listening, empathy, and creativity from both parties.

Confronting is the best method to use in this scenario, as it can help the stakeholders overcome their personal
animosity, focus on their common goals, and work together to complete their tasks on time.

References:

CompTIA Project+ Study Guide: Exam PKO0-005, 3rd Edition, Chapter 7: Project Stakeholder Management, p. 246;
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What is Conflict Resolution, and How Does It Work?

QUESTION 3

A project manager has received different functional requests from three individual stakeholders. The project manager is

able to have all parties concede somewhat in order to find a reasonable solution. Which of the following outcomes would
most likely occur?

A. Too much time might be spent generating project delays.

B. The project manager might be seen as weak.

C. The number of change requests throughout the project might be reduced.

D. Some stakeholders might not be completely satisfied.

Correct Answer: D

When a project manager achieves a compromise, it often means that stakeholders may not be entirely satisfied with the

outcome. However, compromise is sometimes necessary to balance differing needs, consistent with CompTIA Project+
principles on stakeholder management and negotiation.

QUESTION 4

A project manager has been informed that the delivery of required IT equipment will be delayed. Which of the following
is the FIRST step the project manager should take?

A. Make an impact assessment.

B. Prepare a new purchase order.

C. Select a new vendor.

D. Create a risk register.

Correct Answer: A

The project manager should make an impact assessment after being informed that the delivery of required IT equipment
will be delayed. An impact assessment is a process of analyzing and evaluating how a change or an issue may affect
the scope, schedule, cost, quality, or risks of a project. An impact assessment can help to determine the severity and

implications of the delay on the project objectives and deliverables and identify any possible alternatives or corrective
actions to minimize or avoid its negative effects.

QUESTION 5

A project manager is leading the implementation of a new service for a well-known, global company for which brand
image is most important. The project will rely on contracted services. As part of the request for proposal process, the
project team has identified a short list of vendors to submit proposals. Which of the following items should the project
team consider as a primary factor to remove a vendor from consideration?

A. The vendor\\'s proposed schedule does not align with the desired schedule.
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B. The vendor is new and not well established in the market.

C. The vendor has been linked to ESG concerns within the past month

D. The vendor\\'s quote was the highest of all the proposals.

Correct Answer: C

ESG stands for environmental, social, and governance, and it refers to the criteria that measure the sustainability and
ethical impact of an organization. ESG concerns can affect the reputation, performance, and value of a company, as
well as its stakeholders and customers. For a well-known, global company that values its brand image, hiring a vendor

that has been linked to ESG concerns can be a major risk and a source of negative publicity. Therefore, the project
team should consider this as a primary factor to remove a vendor from consideration.

QUESTION 6

A project manager was not part of a contract negotiation. The project manager is concerned that stakeholders will
expect the project to achieve deliverables requested in the RFP. Which of the following documents should the project
manager produce FIRST to start communication about the boundaries of the project?

A. Milestone chart

B. Work breakdown structure

C. Project charter

D. Detailed scope statement

Correct Answer: C

The project manager should produce a project charter first to start communication about the boundaries of the project. A
project charter is a document that formally authorizes a project and defines its high-level scope, objectives,

assumptions, constraints, stakeholders, roles and responsibilities, and key deliverables. A project charter can help to
communicate the project vision and expectations to all stakeholders and provide a basis for future project decisions.

QUESTION 7

A project team is developing an application that will allocate a building\\'s parking spaces. The building owner does not
agree with using corporate colors in the application and has blocked the release of the beta version for testing. Which of
the following best describes what the project manager should have done in the initiation phase to prevent this issue?

A. Review of existing artifacts

B. Development of an issue log

C. Identification and assessment of stakeholders

D. Establishment of accepted communication channels

Correct Answer: C

The project manager should have identified and assessed the building owner as a key stakeholder in the initiation
phase, and understood their expectations and requirements for the application. This would have helped to avoid the
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conflict over the corporate colors and the delay in testing. Stakeholder identification and assessment is an important
process in the initiation phase, as it helps to define the project scope, objectives, and success criteria, and to establish a
communication plan. References: CompTIA Project+ PK0-005 Certification Study Guide

QUESTION 8

Which of the following should occur when implementing an IT infrastructure change that takes risks into consideration?
A. Approving the change request

B. Developing a rollback plan

C. Gathering necessary resources

D. Defining requirements

Correct Answer: B

When implementing an IT infrastructure change that takes risks into consideration, the project manager should develop
a rollback plan. A rollback plan is a contingency plan that outlines the steps that need to be taken in case the change

does not work as expected. It includes a plan to roll back the changes and restore the system to its previous state.
References: CompTIA Project+ Study Guide Section 3.3.

The project manager should develop a rollback plan when implementing an IT infrastructure change that takes risks into
consideration. A rollback plan is a contingency plan that describes how to revert back to the previous state of the

system

in case of a failure or disruption during the change implementation. A rollback plan can help to minimize the impact of
the change on the system performance and availability and ensure business continuity and data integrity.

QUESTION 9

Which of the following would be considered operational security?

A. Mobile device compliance

B. Background screening

C. Multifactor authentication

D. Facility access

Correct Answer: D

Operational security (OPSEC) is a process that prevents sensitive information from getting into the wrong hands by
viewing operations from the perspective of an adversary. Facility access is a form of OPSEC that controls who can enter

and

exit a physical location where sensitive data or equipment is stored or processed. Facility access can include measures
such as locks, alarms, badges, biometrics, guards, and cameras.
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The other options are not correct because:

Mobile device compliance is a policy that ensures that mobile devices used by employees or contractors meet certain
security standards and requirements, such as encryption, password protection, antivirus, and remote wipe. Mobile
device

compliance is not a form of OPSEC, but rather a form of data security or device management.

Background screening is a process that checks the criminal, financial, and employment history of a potential employee
or contractor before hiring them. Background screening is not a form of OPSEC, but rather a form of human resource

management or risk mitigation.

Multifactor authentication is a method that requires users to provide two or more pieces of evidence to verify their
identity before accessing a system or service, such as a password, a code, a token, or a biometric. Multifactor
authentication is

not a form of OPSEC, but rather a form of access control or identity management.

References:

CompTIA Project+ Study Guide: Exam PK0-005, 3rd Edition, Chapter 10: Executing and Closing Projects, page 314;
CompTIA Project+ Certification Exam Objectives, Domain 3: Project Execution, Objective 3.2: Given a scenario,

execute

and monitor project tasks using traditional methodologies; What is Operational Security? The Five-Step Process, Best
Practices, and More

QUESTION 10

Due to budgetary and time constraints, a PM scheduled a meeting with all stakeholders during the planning phase to
review the requirements and come to an agreement on the minimum viable product that would be acceptable. Which of
the following would be used to document this input?

A. Project change management plan

B. Project management plan

C. Project transition plan

D. Project communication plan

Correct Answer: B

The project manager should use the project management plan to document the input from the stakeholders on the
minimum viable product that would be acceptable for the project. The project management plan is a document that
describes

how the project will be executed, monitored, controlled, and closed. It usually includes information such as scope
statement, work breakdown structure (WBS), schedule baseline, cost baseline, quality plan, risk plan, communication

plan,

stakeholder plan, and change management plan. The project management plan can help to define and communicate
the project requirements, deliverables, assumptions, constraints, and expectations to all stakeholders involved in the
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project.

The project management plan would be used to document the input obtained from stakeholders during the meeting to
review the requirements and agree on the minimum viable product. The project management plan is a comprehensive

document that outlines the approach, scope, schedule, budget, quality, resources, and communication for a project. The
document is updated throughout the project lifecycle and serves as a guide for project execution, monitoring, and

control.

References: CompTIA Project+ Study Guide, Chapter 3: Project Integration Management, Objective 3.3: Identify the
components of the project management plan.

QUESTION 11

An opportunity emerged in the middle of a project life cycle.

Which of the following is the BEST action for the project manager to take?

A. Exploit the risk.

B. Accept the risk.

C. Avoid the risk.

D. Transfer the risk.

Correct Answer: A

The project manager should exploit the risk after an opportunity emerged in the middle of a project life cycle. Exploit is a
risk response strategy that aims to increase the probability and/or impact of a positive risk or opportunity. Exploit can
involve actions such as allocating more resources, changing the scope or schedule, or adding more features or benefits

to the project deliverables. Exploit can help to ensure that the opportunity is realized and that the project gains more
value or advantage from it.

QUESTION 12

As a result of lessons learned, a project manager convenes a meeting to understand the poor quality of the project
documentation. During the meeting, project team members provide insights from their perspectives and discussions with
group members. Which of the following is the project team doing?

A. Executing the approved contingency plan

B. Constructing an Ishikawa diagram to determine the root cause

C. Using a Pareto chart to prioritize the different causes

D. Engaging the senior management team in regard to the issue

Correct Answer: B

An Ishikawa diagram, also known as a fishbone diagram, is a tool used to identify and analyze the root causes of a
particular problem. CompTIA Project+ references this tool as essential for quality management and problem-solving.
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QUESTION 13

During the testing phase of a project, the legal department rejected a deliverable due to compliance issues. The project
manager reviewed the risk register and triggered the mitigation plan for this item. Which of the following documents
should the project manager update next?

A. Schedule

B. Status report

C. Issue log

D. Task board

Correct Answer: C

An issue log is a document that records and tracks any issues that arise during a project and how they are resolved. It is
different from a risk register, which records and tracks potential risks that may or may not occur during a project. When
a

risk becomes an issue, it means that it has occurred and has a negative impact on the project. Therefore, the project
manager should update the issue log next to document the compliance issue, its cause, its impact, its priority, its owner,

and

its resolution status. Updating the issue log will help the project manager communicate the issue to the stakeholders,
monitor the progress of the mitigation plan, and prevent similar issues from happening again.

References:

CompTIA Project+ PK0-005 Certification Study Guide, Chapter 11: Executing Projects Part 2, page 331; Project Risk
Mitigation Guide + Starter Kit | Smartsheet, Risk Register section; How to Make a Risk Management Plan (Template

Included) - ProjectManager, Risk Register section; Issue Log - Project Management Knowledge, Introduction section;
Issue Log Template: Free Download | ProjectManager, Introduction and How to Use an Issue Log sections.

QUESTION 14

A project is running over budget, and due to new legislation in the country, the company needs to release all its
contractors on the project or hire them as full-time employees. Which of the following should the PM do next to comply
with the new legislation?

A. Use only full-time employees even if the project is delayed.

B. Hire all team members to avoid any delay in the project.

C. Close the contract and pay the contractors cash for the remainder of the project.

D. Look for an overseas vendor to finalize the project work.

Correct Answer: A

In response to new legislation requiring the release of contractors or their conversion to full-time employees, the project
manager should prioritize compliance with the law. This may involve using only full-time employees, even if it results in
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project delays. The focus should be on legal compliance and the ethical treatment of workers, rather than solely on
project timelines.

References: The answer is based on standard project management practices and the typical response to changes in
legislation affecting project staffing. For detailed information, please refer to the CompTIA Project+ Study Guide and
other

official CompTIA resources.

QUESTION 15

During the project initiation phase, a project team has been identified. Which of the following is the NEXT step for the
project manager?

A. Determine budget constraints.

B. Validate the business case.

C. Update the project charter.

D. Create a project schedule

Correct Answer: C

Update the project charter. Updating the project charter would be the next step for the project manager after identifying
the project team during the project initiation phase. A project charter is a document that formally authorizes a project
and defines its purpose, scope, objectives, deliverables, milestones, roles and responsibilities, assumptions, constraints,

risks, budget, and timeline. A project charter can help to align the expectations and interests of all stakeholders involved
in a project and provide direction and guidance for planning and executing the project.
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